‘“,"0‘“ OIHGI,VA 2

WESTERN|

uurm&%mﬁ‘@ Western Products
\/

PO Box 245038

PARTS AND

O, PR Milwaukee, WI 53224-9538
unlmnunt www.westernplows.com

ACCESSORIE

63300, 63360-1, 67960-1, 67981-2
MODELS 3515, 3525, 3519, 3529

VEHICLE-SPECIFIC ELECTRICAL
PARTS LIST

9D A DIVISION OF DOUGLAS DYNAMICS, L.L.C. | Chevy/GMC 1500/2500/3500 4X4 1999-

PARTS LIST
Straight Blade Snowplows (67960-1, 67981-2, 63300, 63360-1)
B 1999-02 | 2003-__
63392 64077
Part Description Qty Qty
61437  Vehicle Harness Kit 9-Pin 1
61557  Vehicle Harness Kit 12-Pin 1
61438 Plow Harness Kit 9-Pin 1*
61558 Plow Harness Kit 12-Pin (Black or White Strain Reliefs) 1*
26071 Plug-in Harness HB-3 & HB-4 -F 1
64075 Plug-in Harness HB-3 & HB-4 -H 1
26013 Fuse Holder Assy (2 Fuses) 1
64076 Fuse Holder Assy — Single Fuse 1
26078 DRL Diode w/Heat Sink Assy 1 1
21307 .250 Insulated Receptacle 2
26115 Splice Tap 22-18 ga 1 1
61562 Jumper Wire (Piggy Back One End) 4
62919  Jumper Assy 2 Way 2
64081 Jumper Assy 3 Way 1
26016  Jumper Assy — 5" (Black) 2
26072 Harness Assy DRL Diode w/Heat Sink 1 1
26114  Jumper Assy W/Diode (24" Red) 1 1
90461  1/4-20 x 3/4 Hex Cap Screw G5 1 1
90311  1/4 Flat Washer 1 1
91331  1/4-20 Hex Locknut GB 1 1
22381W Battery Cable Adaptor — Set of 2 1* 1*
ga = gauge G = Grade

* These parts are packaged and sold separately. They are not included with the kits and
must be purchased separately.

Lit. No. 67806, Rev. 05

January 15, 2009



VEHICLE-SPECIFIC ELECTRICAL PARTS LIST
FOR 63300, 63360-1, 67960-1, 67981-2 MOUNT KITS

MVP® Blade (63360-1 & 67981-2)
1999-02 2003-__
63394 64085
Part Description Qty Qty
666101 Vehicle Harness Kit 12-Pin MVP 1t
63390 Vehicle Harness 12-Pin Special (Lights Only) 2
63399 Plow Harness MVP Special (Hydraulics Only) 1
666117 Plow Harness Kit 12-Pin MVP 1t
61558*1 Plow Harness Kit 12-Pin (Black or White Strain Reliefs) 1t
63401 Vehicle Harness MVP Special (Hydraulics Only) 1
26071 Plug-in Harness HB-3 & 4-F 1
64075 Plug-in Harness HB-3 & 4-H 1
26013 Fuse Holder Assy (2 Fuses) 1
64076 Fuse Holder Assy — Single Fuse 1
26078 DRL Diode w/Heat Sink Assy 1 1
21307 .250 Insulated Receptacle 2
26115 Splice Tap 22-18 ga 1 1
61562 Jumper Wire (Piggy Back One End) 4
62919 Jumper Assy 2 Way 2
64081 Jumper Assy 3 Way 1
26016 Jumper Assy — 5" (Black) 2
26072 Harness Assy DRL Diode w/Heat Sink 1 1
26114 Jumper Assy w/Diode (24" Red) 1 1
90461 1/4-20 x 3/4 Hex Cap Screw G5 1 1
90311 1/4 Flat Washer 1 1
91331 1/4-20 Hex Locknut GB 1 1
22381WT  Battery Cable Adapter — Set of 2 17 17
26270* Heat Shrink Tubing 1/2" Black 2" Long 1
ga = gauge G = Grade

* Use 26270 to modify 61558 for 2003 and later applications.
T These parts are packaged and sold separately. They are not included with the kits and must be purchased
separately.

63390
63399
66611

Copyright © 2009 Douglas Dynamics, L.L.C. All rights reserved. This material may not be reproduced or copied, in whole or in part, in any
printed, mechanical, electronic, film or other distribution and storage media, without the written consent of Western Products. Authorization to
photocopy items for internal or personal use by Western Products outlets or snowplow owner is granted.

Western Products reserves the right under its product improvement policy to change construction or design details and furnish equipment when
so altered without reference to illustrations or specifications used. Western Products or the vehicle manufacturer may require or recommend
optional equipment for snow removal. Do not exceed vehicle ratings with a snowplow. Western Products offers a limited warranty for all
snowplows and accessories. See separately printed page for this important information. The following are registered (®) or unregistered (™)
trademarks of Douglas Dynamics, L.L.C.: MVP®, MVP PLUS™, UltraMount®, UniMount® WESTERN®.

Printed in U.S.A.

Lit. No. 67806, Rev. 05 2 January 15, 2009



